
When to recognize a government grant 
Nearly each and every standard, will usually be made up of the definitions, when to recognize an asset 
or a liability, how to measure such liability asset or expense, and then there would be the disclosures. 
Government grants including non-monetary grants shall not be recognised until there is reasonable 
assurance that ….. (Paragraph 7). Both the conditions need to be met in order to recognize a 
government grant in the financial statement. Even though something falls within the definition of a 
government grant, but it does not meet the recognition criteria, then you cannot recognize that sum of 
money received as a government grant.  
 
Eg the government will refund 40% of the expenditure incurred to development incurred to develop a 
new product, and there are conditions, eg the average no of employees cannot fall below 100 
employees.  
If there are no conditions, it is not a government grant. This money that will be provided does fall in the 
government grant. It should be recognised if it meets the recognition criteria of a government grant. If 
the company faces money problems, and during a meeting they decide to lay off some employees, with 
the result that the average number of employees will go below 100, then the company right now cannot 
recognize such money received as a government grant. In order to recognise a government grant, the 
first condition, the entity will need to comply with the conditions attached, and if they are 
contemplating that they will lay off some employees resulting in the average number to go below 100, 
then the condition will not be met, so it will not avail itself to get such a government grant. If it thinks it 
will not meet the criteria/conditions to receive such grant, then it cannot recognize such government 
grant even though the money to be received falls in the definition to be a government grant. 
 
Another condition is that the government must pay; the government will pay no matter what. This 
would mean that the government would go bankrupt. So, this one is easily met.  
 
The standard says “reasonably assured” which refers to a concept of nearly certainty. Nearly certainty 
that the company will comply with such conditions, and nearly certainty that the grants will be received. 
It does not mean that the mirror fact that a grant is received, the recognition criteria is automatically 
met. There are instances where the government will pay in advance such grant, so even though a 
company might have received a grant, if it thinks that it will not comply with the conditions, the 
company cannot recognise such monies as a government grant.  
 
Eg on 30th June 2015 accepted a claim from the company Frank PLC, to reimburse it for expenses 
incurred in renovating its plant. The total cost of renovating the plant amounted to 1,000,000, and the 
government will refund an 80% equivalent of such cost if the following 2 conditions are met; the 
company will start exporting into 2 new foreign markets, and the average employees over the next 3 
years will increase from 150 to 220. The government transferred the 800,000 in the bank account of 
Frank PLC on 1st September 2015. During a board meeting, held in July, the board of directors expressed 
their concern as to wheatear they will be able to increase the workforce by 70 over the coming 3 years 
in view of the fact that demand for the company’s products in mainland Europe is not that strong in 
view of the slow recovery of the EU’s economy.  
 
Here we are dealing with a government grant, as it ticks all the boxes for it to be recognised. The second 
condition was met, but is the company able to export in the foreign markets and will it is able to 
increase work force. In the meeting, the directors have doubts whether this will be achieved, so the 
directors are not reasonably assured that the conditions will be met. If they are not met, the company 
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Case Study 2a 
The government has transferred land, and there is a condition. When the government provides a non-
monetary grant (land), the company has 2 options, to show the grant at nominal value or at fair value. 
Fair value is to show it at the fair value of the asset I have received (so if it is 4,000,000 Dr the asset 
4,000,000 and Cr the grant at 4,000,000). If they decide to show it at nominal value, they would show 
nothing in the books. 
 
Dr land 25,000,000 (the credit the cost I will incur to condition the grant) 
Cr Deferred Income 25,000,000 (so we allocate it over the 3 years) 
 
We have to allocate it systematically with the expenses that are going to be incurred. 16 million is the 
total labour cost. During the year we incurred 4 million, so (4,000,000/16,000,000) 25%. 
25% x 25,000,000 = 6,250,000. In my first year I have to release 6,250,000 
 
Dr Deferred Income 6,250,000 
Cr Other income 6,250,000 
 
Now, we have to sub-divide between current and non-current liability. The balance as at year end is 
18,750,000. Next year the labour cost is 6,000,000, so I am expecting to release (6mil/16mil x 
25,000,000 = 9,375,000. SO I am going to release 9,375,000. So this amount is going to be shown as 
current liabilities.  
The other 9,375,000 is going to be shown as non-current liabilities.  
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Examples 
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